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Wednesday, December 12, 2012

--- On commencing at 1:35 p.m.

MR. QUESNELLE:  Good afternoon.  Please be seated.  

Welcome back, panel.  Mr. Cass, I don't know if we have any preliminary matters to discuss this afternoon.  I see some undertakings have been delivered.
Preliminary Matters:

MR. CASS:  Yes.  I was just going to address that quickly, Mr. Chair.   A number were sent out yesterday, six in total, I think.  There's a covering letter with them that lists the undertakings that have been answered.  I assume everybody has received them.

MR. QUESNELLE:  I saw them electronically.  We don't have them up on the dais, but that's fine.  I don't think we need them unless there is a reference to them.

MR. CASS:  I understand there are hard copies available here in the room.

MR. QUESNELLE:  Thank you very much.  Does this include the undertaking that we spoke of late in the day yesterday that Mr. Rubenstein was interested in?  Yes?  Okay, yes.  Okay, thank you.

Mr. Millar, continuation of your cross from yesterday?

THESL - PANEL 2B, CAPITAL PROJECTS, RESUMED


Guillaume (Guy) Paradis, Previously Sworn


Christopher Kerr, Previously Sworn


Jack Simpson, Previously Sworn


Mary Byrne, Previously Sworn


MR. MILLAR:  Yes.  Thank you very much, Mr. Chair.
Continued Cross-Examination by Mr. Millar:

Good afternoon, panel.  Just by way of recap, perhaps the first thing I should do is re-file the tables we had filed yesterday.  We corrected the error that was in them with an explanatory note, so I don't know that we have to go over it again.  But I would propose to re-file it just so we have the proper version on the public record.

Again, these are tables showing the contribution of submersible transformers to feeder CI and feeder CHI for 2007 to 2011.  Maybe we could just note that as corrected, and that will be Exhibit K3.1.
EXHIBIT NO. K3.1:  CORRECTED TABLES SHOWING THE CONTRIBUTION OF SUBMERSIBLE TRANSFORMERS TO FEEDER CI AND FEEDER CHI FOR 2007 TO 2011.

MR. QUESNELLE:  Thank you.

MR. MILLAR:  Panel, could you confirm that you have this updated copy of the charts?

MR. KERR:  Yes, we do.

MR. MILLAR:  Thank you very much.

Just by way of a quick recap to remind ourselves of what it is we're talking about, these charts were introduced in the context of segment B1, the underground infrastructure.  In particular, we were discussing your proposed replacement of certain underground transformers.  Do you recall that?

MR. KERR:  Yes.

MR. MILLAR:  Again, as part of this incremental capital module, you are looking to replace about 600 of those?

MR. KERR:  That's correct.

MR. MILLAR:  And the cost of that, I don't know if I asked you this or not, but the cost is about $6.6 million?  Do I have that right?

MR. KERR:  Yes.

MR. MILLAR:  Thank you.  So let's go back to the table and hopefully we will have a bit more luck with it today.  Again, we started to go through what this showed, but just to refresh everyone's memory and in case anyone happens to be reading along at home, if you look across the columns at the top, I'm just taking the first one, for example.  This is 2007.

You'll see column 1 shows the feeder in question.  The total number of submersible transformers on that feeder, where that information is available is shown in column 2, and the number you propose to replace in is column 3.  That looks right so far?

MR. KERR:  Yes.

MR. MILLAR:  Then if we look at columns 4 through 8, that shows the contribution to the customer interruption, the CI index, for that particular feeder from submersible transformers.  Does that look right?

MR. KERR:  Yes.

MR. MILLAR:  For example, you look at number 7, and I'm just taking line 1, feeder 1, for example -- sorry, look at column 6.  You see the number 208.  That would represent 208 customer interruptions caused by submersible transformers.  Does that look right?

MR. KERR:  That's correct yes.

MR. MILLAR:  Then if you look at column 7, the next one over, that shows the total customer interruptions for that feeder?

MR. KERR:  That's right.

MR. MILLAR:  Then, finally, 8 shows the percentage that were contributed to by submersible transformers, which is just the 208 divided by the 8,294?

MR. KERR:  That's correct.

MR. MILLAR:  Thank you.  Then if you move over, columns 9 through 13, it is essentially same thing, but just using CHI instead of CI?  Does that look correct?

MR. KERR:  Yes.

MR. MILLAR:  And, again, the units we'd be talking about there, instead of instances of interruption, would be hours; is that correct?

MR. KERR:  That's correct.

MR. MILLAR:  We're already doing a lot better than yesterday.

I mentioned yesterday we had highlighted some of them in red, and those were projects or jobs that had been pushed out of phase 1 and either into phase 2 and beyond.  Do you recall that?

MR. KERR:  Yes.

MR. MILLAR:  Then I also discussed we had highlighted certain lines in yellow, and I explained we had done that -- this is subject to a correction, but we had done that wherever we noted that the contribution of submersible transformers to either the total CI or the total CHI was greater than 25 percent.  Do you recall that?

MR. KERR:  Yes.

MR. MILLAR:  So I think that's established what the chart shows.  I did notice, just as we were going over this this morning, we left out a couple of yellow highlights.  I'm not sure if you noticed that or not.  Given your sharp eye from yesterday, I imagine you did, so I better get it out there myself before you remind me.

MR. KERR:  Sorry, if I could just make one comment?

MR. MILLAR:  Yes, please do.

MR. KERR:  Apologies here.  In instances where -- I just wanted to point out I do see a couple instances where the CI or CHI is more than 25 percent, but it's also earmarked for phase 2. So in those cases it should be orange and red, and it is simply highlighted as red.

MR. MILLAR:  That's a fair point.  You are quite right.  Some of the red ones --


MR. KERR:  Are also orange.

MR. MILLAR:  -- would be orange if they were in the test period.

MR. KERR:  That's correct, yes.

MR. MILLAR:  In fact, there are two where we missed putting them into orange, as well.  I would like to highlight that for the record.

If you go to 2008, which is the second chart, line 31, you'll note there that in fact under column 8 there's a 26 percent?

MR. KERR:  Right.

MR. MILLAR:  So that should have been yellow.  Then again there's one other, 2011, the last one, line 10 -- no, it's not line 10.

MR. QUESNELLE:  Yes, it is 10.  You're right, it is 10.

MR. MILLAR:  I'm sorry, I'm looking at 2010.  Yes, it's line 10.

You'll see the CI under column 9, line 10, is 92 percent.  So that one should have been yellow, as well, though I do note that that is one where you are actually not changing any of the submersible transformers.

Okay, subject to those corrections and your note that some of the reds should be orange, as well, did you happen to have a chance to go through these charts yesterday, at least to have a high-level look at them?

MR. KERR:  Yes.  I believe these, with the corrections, now they are representative.  They are identical to the evidence we filed.

MR. MILLAR:  You didn't see any other errors that we had made?

MR. KERR:  No.

MR. MILLAR:  Thank you very much.

I guess for all that, I think the charts more or less speak for themselves, but just a couple of questions for you.

First of all, can you confirm for me, if we look through the yellow portions, the way I have it is there are three in 2007, six in 2008 if you include the one we just added, four for 2009, and then two in each of 2010 and 2011?  Do you accept that?

MR. KERR:  Sorry, you're just highlighting how many, basically, of --


MR. MILLAR:  I'm just counting the numbers.

MR. KERR:  -- the 25 percent threshold?

MR. MILLAR:  Correct.

MR. KERR:  So it should actually be four for 2007.

MR. MILLAR:  Maybe I should -- I'm counting phase 1 only.

MR. KERR:  Oh, okay, so just the phase 1.  If you are just looking at phase 1, then, yes, those numbers are correct.

MR. MILLAR:  Thank you.  Can you confirm for me that only three of the feeders appear in yellow in more than one year?  So three single feeders exceed that threshold in more than one year?

I have feeder -- feeder 13 appears in 2007 and 2008.  Feeder 23 appears in 2008 and 2009, and then feeder 30 appears at 2008 and again in 2010?  Would you accept that?  Again, I'm only including the phase 1.

MR. KERR:  Sorry.  So could you repeat those again, and let's -- you said there were -- there was one feeder that appeared in both '7 and '8?

MR. MILLAR:  Yes.  In 2007 and 2008, feeder 13 appears in both of those years?

MR. KERR:  Yes.

MR. MILLAR:  Then feeder 23 is a repeat offender.  It comes up in 2008 and 2009?

MR. KERR:  Sorry, the full name of the --


MR. MILLAR:  23 is SCNT63M12.

MR. KERR:  Yes.

MR. MILLAR:  It's line 23.

MR. KERR:  Okay.

MR. MILLAR:  Then, finally, line 30, feeder number -- it's not feeder number.  It's NY51M3^.  It comes up twice, once in 2008, once in 2010?

MR. KERR:  That's correct, yes.

MR. MILLAR:  Could you also confirm for me that as we look at these tables, many feeders for underground transformers have not been the cause of any interruptions at all?  You can take any year you like, but if you look down column 8 or column 13, there's a lot of zeros there; would that be fair?

MR. KERR:  Yes, I think that's fair.

MR. MILLAR:  Just to take not quite a random example, but if you look at line 18, which is feeder NY 80 M 30, for that one you're replacing close to half of the submersible transformers, 30 of 68.  I looked through, and as best I can tell there's not a single CI or CHI caused by submersible transformers on that feeder for any of the five years.  Can you confirm that?

MR. KERR:  Yes.  Just looking at these years alone, I would say that number is correct.

MR. MILLAR:  Thank you.

So I guess taking everything shown in this chart together, would you agree with me that submersible transformers have not been a significant contributor to CI and CHI over the past five years?  Would that be a fair statement?

MR. KERR:  I think that would be a fair statement only for the feeders where, as you've shown in the table, if for these years, the CI or CHI due to submersible transformer failures is shown as zero percent.  Then I think that's a fair statement about the historical performance of submersibles on those feeders.

MR. MILLAR:  Even at an overall level -- we chose 25 percent somewhat arbitrarily, but I guess it's a threshold we thought that is where you start getting into a pretty serious source of concern.  There really aren't that many feeders for which 25 percent of either CI or CHI are caused by submersible transformers.

It may this be is a matter for argument, and I suppose different people could attribute different qualities to that.

Are we in disagreement that submersible transformers are or are not a significant cause of CI and CHI?

It's our view that they are not, really.  Do you disagree with that?

MR. KERR:  Again, I think for the feeders, I don't think it's accurate to just generalize on such a high level, because obviously in some cases we do have feeders where, you know, we can see the CI, the CHI due to submersible transformer failures is over 50 percent, and for other feeders is it zero.

So to generalize at such a high level and just say submersible transformers aren't really an issue would be to -- we would essentially be discounting the SAIDI/SAIFI impact on those feeders where the transformers are an issue.

So I think it's important to stay at the feeder level, and not to generalize at such a high level.

MR. MILLAR:  And that may be a fair point.  For some of the feeders in some of the years, it has been a significant problem.  Maybe I'll leave that discussion there.

If you can turn to the final page of the chart, 2011, and you might want to have 2010 handy, as well, it seemed to me, at least eyeballing these data, that -- would you agree with me the problem, such that it exists, seems to be getting better as opposed to getting worse?

In 2010 and 2011, we see the fewest incidences of the yellow lines, and indeed again in column 8 and 13 you see an awful lot of zeros there.

Is the problem getting better?

MR. KERR:  To answer that question, I think -- I think it's important to note that due to capital investment historically in the replacement of submersible transformers -- both submersible transformers that we have deemed to have a high likelihood to failure due to age and condition, and replacement of submersible transformers due to the prudence of replacing them while we are working on replacing other assets -- I think that investment has had a favourable impact on some feeders with respect to the CI and CHI caused by the failure of submersible transformers.

MR. MILLAR:  That's helpful.  Thank you. 

MS. SPOEL:  Mr. Kerr, can I can just ask a question, as well, on these?

I'm assuming that when you look at the contribution as a percentage, it also depends how many failures there were on that line from other causes, and it may or may not have very much to do with the absolute number of failures due to the submersible transformers?

MR. KERR:  Right.  I think that's a fair point.  If you have a large feeder, the CI and CHI in terms of percentage caused by submersibles, if it's a large feeder and it has had many breaker lockouts, but you've also had many submersible transformer failures, then yeah, the submersible transformers will be very low in terms of percentage of CI and CHI.

So yes, I'd agree with your statement.

MR. MILLAR:  Thank you.

I think we can probably all agree that these tables provide some information, probably helpful information, but they don't necessarily tell the whole story; would that be fair enough?

MR. KERR:  I think that's fair.

MR. MILLAR:  Let's look at some other information we have on these submersible transformers.

Could I ask you to turn to the Kinectrics asset condition report?  That's tab 4, schedule D1, and I'll be looking at pages 42 and 43.

MR. KERR:  Yes, I have those.

MR. MILLAR:  You probably knew I was going to go there. 

Mr. Chair, if you don't have it handy, I'm only going to be referring to a couple of tables.  It may be just as easy to look at it on the screen.

So starting at 42, let's just get a bit of background here.  If you look at table 10-1, this is the sample size survey.  Let's take 2012.  You've got about 9,249 of these submersible transformers; is that correct?

MR. KERR:  Yes.

MR. MILLAR:  And you actually got a pretty good sample size for the asset report?  About 90 percent; is that right?

MR. KERR:  Yes, that's correct.

MR. MILLAR:  So you'd be fairly confident in the data that came from this report on that asset class?

MR. KERR:  Yes.

MR. MILLAR:  Again, just to remind ourselves, you are proposing to go replace about 600 as part of this ICM?

MR. KERR:  Yes.

MR. MILLAR:  I think I heard you say -- correct me if I'm wrong -- that this is because of imminent reliability concerns with respect to these 600 submersible transformers?

MR. KERR:  Maybe I need to clarify.  The reason for which the replacement of these transformers is non-discretionary is not just the reliability concerns or the conditions of the transformers, but also the prudence of replacing those transformers.

I'll use an example of a feeder where -- we're most likely to find some submersible transformers on a feeder where we're rebuilding direct-buried cable, so it is most prudent to replace the transformers in that area at the same time that we're there replacing the direct-buried cable.

And I think I noted also in the technical conference that we do look at what is the condition of the transformers, you know.  Just because we're replacing direct-buried in an area, if all the transformers in that subdivision were less than five years old because they had all failed and been replaced on a reactive basis, we're not going to replace those.

However, if they are all 30, 35 years old, just because they have not failed does not mean that it would not still be prudent to replace those while we are doing the cable work.

MR. MILLAR:  Okay.  I would like to get back to that point in just a moment, but before we get there, could I ask that we go to the next page?  And let's look at the actual asset conditions of these submersible transformers.

You see the health index on table 10-2?  Do you see that?

MR. KERR:  Yes.

MR. MILLAR:  Again, let's look at 2012, just for example.  Very poor -- none of those assets are in very poor condition, is that correct, at least according to this survey?

MR. KERR:  According to the formulation as it was done to create this table, that's a fair statement.  But if I could make one comment on that answer, if you look at the paragraph above the -- I guess the fourth line from the bottom of the paragraph, it starts with:
"Noted, however, that the health index formulation may not be a true representation of asset condition as it does not take into account the known issues with multi-taps."

So I just wanted to point out that essentially what is said there is the formulation as we have it is showing that they are all in very good or good condition, but that may not be a true representation of the condition of the asset class.

MR. MILLAR:  I saw that, too, and read it with interest, so much so that I did a word search on multi-taps throughout the rest of the document.  There are only two other passing references to it, which essentially say the same thing.  They more or less repeat that sentence.

So I was left a bit in the dark as to exactly what is meant by that.  Could you help me out?  What is the known issue with multi-taps?

MR. KERR:  The known issue with the multi-taps is essentially they are also -- I think it's safe to assume that for every submersible transformer vault where we do have a multi-tap, it's safe to assume the multi-tap was installed at the same time as that transformer.  So it's the same age or beyond its useful life.

MR. MILLAR:  Why is it beyond its useful life?

MR. KERR:  I'm just speaking with respect to the age of the multi-tap.

MR. MILLAR:  But is a multi-tap necessarily -- is every transformer with a multi-tap past its useful life?  I'm not sure why that would be the case.

MR. KERR:  No, what I'm saying is any transformer with -- any submersible transformer in a vault that has a multi-tap where the multi-tap is the same age as the transformer, if the transformer is at an age where it's effectively beyond its useful life, then the multi-tap would also be beyond its useful life.

Essentially, the life of the multi-tap we're saying matches -- the expected life of the multi-tap would be about the same as the expected life of a transformer.

MR. MILLAR:  How is that a known issue about multi-tap?  How does that impact the health index here?  What isn't reflected in the health index?

MR. KERR:  Essentially our -- we have seen a number of failures in our system with respect to the multi-taps failing.

MR. QUESNELLE:  Mr. Kerr, it might help us to understand a little further.  Could you give kind of a brief description of what a multi-tap is and its purpose?

MR. KERR:  Sure.  I know I gave a brief description in the technical conference, but I was missing -- not everybody was in the technical conference.

MR. QUESNELLE:  We have the transcripts, but to pick out that definition of multi-tap through that and remember that, I don't --


MR. KERR:  Understood.

MR. QUESNELLE:  If we could place it in context here, it would assist.

MR. KERR:  The easiest way to explain how the multi-tap -- what is a multi-tap, I'll first talk about how we loop through our submersible transformer vaults.  Basically, when we have what we call a string or loop of submersible transformers, the primary cable comes in the vault, it feeds power to the transformer, and then exits the vault and goes to the next transformer vault, and so on, until you complete the entire loop.

So the multi-tap is essentially a T junction point, so you have three connection points, one for the incoming cable, one for the outgoing cable, and then the third connection point is actually a point where you tap off with high voltage cable to get the power from the cable loop to the actual transformer itself.  I think that's the best way to describe the multi-tap.

MR. QUESNELLE:  The "tap" idea being that you switch from one to the other with that mechanism.  You either open or close circuit or direct or --


MR. KERR:  No, we don't actually open or close using the multi-tap.  It's --


MR. QUESNELLE:  It has no moving parts?

MR. KERR:  That's right.  It has no moving parts.  It's literally just like a T junction that elbows connect to.

MR. QUESNELLE:  The nature of the reliability issue around this, these burning off or the connection becoming weak and insulation loss or degradation of dielectric strength or...

MR. KERR:  I think the loss of dielectric strength is the easiest way to explain some of the failures we've seen with respect to the multi-taps.

MR. QUESNELLE:  Thank you.  Sorry, Mr. Millar.

MR. MILLAR:  This may simply be my ignorance of engineering matters, but why isn't that reflected in the health index?  Isn't that part of the health of the asset?

MR. KERR:  So it has been recommended by Kinectrics that we do include that as a variable in the health index formulation.  It's simply just our formula that we use simply hasn't included that variable yet.  That is something we're working on for improvement of the condition assessment.

So essentially it's been recommended and advised that, yes, that is an important formula or an important variable in the formula.  We just haven't included that variable in the formula.  It hadn't been included at the time that this analysis was done.

MR. MILLAR:  It says in that last sentence before the table that over 600 units have since been replaced.  Do you know how many of these units -- of the 9,000-some-odd, how many of them are multi-taps or have multi-taps, even approximately?

MR. KERR:  I think there was actually an undertaking asked by Board Staff in the technical conference with respect to how many of our new -- our current standard switchable submersible transformers exist in the system.

So given that we have a population of about 9,250, I believe the result of the undertaking was we have about 3,500.  I might be off by couple hundred, but it was just over 3,000 of our switchable units.  So I think it's a safe assumption to say the rest of the non-switchable - so 5,500 or slightly over that - all have multi-taps.

MR. MILLAR:  They would all be multi-taps?

MR. KERR:  Yes.

MR. MILLAR:  Of the 600 you are going to replace, safe to say all or most of those would be multi-taps?

MR. KERR:  Yes, I think that's safe to say.

MR. MILLAR:  Aside from these three passing references in the Kinectrics report, is there any other evidence on the record regarding the problems you've had with these multi-taps?

[Witness panel confers]

MR. KERR:  Off the top of my head, I'm not aware if we talked about specific issues with multi-taps in previous filings.

MR. MILLAR:  This has been -- obviously all of your older submersible transformers have this feature.  You've been working around it for many years, I take it?

Five, five-and-a-half thousand of these transformers are multi-taps, and it seems to be the older ones, they last quite a number of years.  I take it you've managed to operate the system with multi-taps for quite a while?

MR. KERR:  I'm just wondering what you mean by "working around it."  Are you saying if the multi-taps are not failing, then yes, we're able to work with the system?  You know, everything is okay, there's no failures happening, but if and when the multi-taps are starting to fail and be the cause of a reliability issue, then that does present a challenge to us to keep the reliability constant.

MR. MILLAR:  All right.  I want to keep going through this table.  So that's a helpful discussion on the multi-taps, but for what the health index does show us, we discussed that for 2012 none of the assets are in very poor condition.

If you move across to poor, you see 0.02 percent; is that correct?

MR. KERR:  Yes.

MR. MILLAR:  By my math, which is probably wrong, if you take 0.02 percent of 9,249, you get 18 and a half, approximately?

MR. KERR:  I trust your math.

MR. MILLAR:  So at least based on the data that Kinectrics had, 18 to 19 of these submersible transformers are in poor condition?

MR. KERR:  Again, using a formulation where they're also stating that formula may not be truly reflective of the condition of the asset class.

MR. MILLAR:  And then even if you go over to fair, we see 1.33 percent?

MR. KERR:  Yes.

MR. MILLAR:  Again, by my math, that's about 123 more?  In the range, subject to check?

MR. KERR:  Yes.

MR. MILLAR:  Again, maybe you've answered this, but there's less than 150 of these that are in very poor, poor or even fair condition, according to Kinectrics, subject to this apparent caveat about the multi-taps.

Is it really non-discretionary to replace 600 of them?

MR. KERR:  Yes.  As I stated earlier, with respect to the ICM criteria, we're asked to show both the need and the prudence of the proposed options.

So if I could just use a practical example to demonstrate why replacement of the submersible transformers which have multi-taps and are at or beyond their useful life, to replace those transformers with new transformers while we are in that area rebuilding because of the direct-buried cable issues, that is the most prudent decision to make while we're in that area, because the alternative would be to essentially rebuild the cable and leave old transformers there, which have a much higher likelihood of failing.  And when those transformers fail, due to the use of the multi-taps we're still going to impact every customer in that entire loop of submersible transformers, despite the fact that only one transformer failed.

And maybe I should clarify that.  When I say impact all the customers, I mean impacted for a much greater duration as opposed to having new submersible transformers in there which are switchable, that will enable us to limit the duration that all the customers experience in the event of a transformer failure.

So really is it the most prudent option to replace the submersible transformers that have multi-taps while we are in the area.

MR. MILLAR:  Let's parse that, because I think you said a couple of things I would like to follow up on.

First of all, at least according to Kinectrics, you're going to be replacing at least 450 submersible transformers that are in good or very good condition; is that fair?

[Witness panel confers]


MR. KERR:  So maybe just two points to that question.

Number one, that would be assuming that the transformer we're replacing has the health index, of which roughly 10 percent of the population does not.

And secondly, again, we're referring to a formulation which Kinectrics clearly stated may not be a true representation of asset conditions.

MR. MILLAR:  Well, do you think it's likely that things that show up in the health index as good, even with this multi-tap issue, have an imminent threat of reliability degradation, if I can use Toronto Hydro's words?

These aren't even in fair condition, let alone poor or very poor; these are listed as good.

MR. KERR:  I think what you are asking is really the extent to which -- could an asset go from good to poor condition because you have, you know, introduced one new variable in the equation.

And I would say yes, that depending on the equation and the significance of the variable which has not been included, it is -- it could be possible that when you include that, it says, you know, we used to think the asset was in good condition, but in all correctness it really is in poor condition.

MR. MILLAR:  It's possible, but you haven't done that equation; is that fair?

You said depending on how you do the equation, it may go from good to poor.  You haven't done that equation?

[Witness panel confers]


MR. KERR:  My apologies.  I'm realizing that perhaps a comment I gave earlier with respect to not having talked about the multi-tap issue in a previous filing, I believe –- again, subject to check, I believe in the previous asset condition assessment from Kinectrics, it was indicated what a new formulation should be for the health index of submersible transformers, to include if there is a multi-tap there or not.

Again, that is subject to check, but I believe that has been published, you know, what the formula should look like.

MR. MILLAR:  But you haven't run the formula; is that fair?

Or if you have, it's not in the evidence.

MR. KERR:  That's correct.  We have run the formula ourselves, but the results of using the new formula are not in the evidence.

MR. MILLAR:  Why wouldn't it be part of the evidence?

MR. KERR:  Simply put, we had run that new formula after the evidence had been submitted, as not a napkin calculation, but we've run the formula for ourselves to understand the significance of adding that variable to the formulation.

MR. MILLAR:  My friends are going to be mad at me for asking this, but can that be filed?

[Witness panel confers]


MR. KERR:  If it would be acceptable, I think we could essentially provide, like we have the figure 10-2 here, we could provide a version of that figure showing the distribution using the new formulation, including the multi-tap criteria.

MR. MILLAR:  I suppose, for completeness of the record, we would like to see that.  I would prefer if you could include some sort of explanation as to what was done differently in this new version of table 10-2 than this one.  Presumably the numbers will be different, and we want to have a good handle on why that is.

I don't know if we'll have another chance to ask questions about this, so we would certainly appreciate as much detail as you can put in there.

MR. KERR:  We can list all assumptions made and reasons for numbers that were used.

MR. MILLAR:  Let's give that an undertaking number, J3.1, and that is to re-file table 10-2 with your updated assumptions.

MR. KERR:  Sure.

MR. QUESNELLE:  Mr. Millar, further to the assumptions, could we include in that, just so it's all in one place, a descriptor of the asset as a whole and why the asset has to be considered a whole?  Why would this be a variable you would tie directly to the asset health?  As you described the multi-tap, in my mind it can be viewed as either a separate asset or not.

The reason it would be joined together, in my mind, would be the inability to replace one without the other, and, if that is the case, fine.  If it's not, please describe whatever the interoperability or interconnectability requirements are.

MR. KERR:  Mr. Chair, I think we can do that, and I can even -- you know, at a high level, my explanation would be really the multi-tap and the transformer may be two separate pieces of equipment, but the functionality is really as one.  So, you know, from that point of view, the multi-tap and the transformer really function together.

MR. QUESNELLE:  If I have no customers on a submersible transformer, the multi-tap functions in that it's the continuity to the rest of the loop, is it not?

MR. KERR:  Yes.

MR. QUESNELLE:  If I disconnect the transformer from the tail that leaves the multi-tap and connect to the transformer, the rest of the loop still continues?

MR. KERR:  The rest of the loop would continue, but I would like to point out, if the multi-tap did fail, despite the fact the transformer is not connected, you would still interrupt all the customers on the rest of the loop.

MR. QUESNELLE:  What I've just illustrated or demonstrated is that you could have the asset completely removed from the functionality and the multi-tap stands alone, does it not?  If you are to go out and take the prudency consideration out, and irrespective of the age of the submersible, if you had a campaign to go out and replace, like literally rebuild, all your multi-taps in a fashion, would this not have an impact on reliability irrespective of what you did with the submersibles?

I'm just going from the information in this report, that it states the multi-taps were the second largest contributor to reliability issues.

It's a variable that's being introduced into this.  I'm not understanding how it would -- you would take a variable and join it to the asset health indicator from a statistical point of view.  There may be prudency arguments as to why you would change them both out at the same time, but I think the Board needs to understand whether or not that is an absolute necessity, or not, or whether or not they could be dealt with separately.

MR. MILLAR:  We'll add that to the undertaking, Mr. Quesnelle.

MR. QUESNELLE:  Please, Mr. Millar.

MR. MILLAR:  Does the witness panel understand?

MR. KERR:  Yes, I believe I understand. 
UNDERTAKING NO. J3.1:  RE-FILE TABLE 10-2 WITH UPDATED ASSUMPTIONS, AND PROVIDE DESCRIPTOR OF ASSET AS A WHOLE AND WHY THE ASSET HAS TO BE CONSIDERED A WHOLE.

MR. MILLAR:  I just have a couple more questions on this project, and then we can move on.

I wanted to touch on what you said about how it may make sense to replace -- you're down there doing some of the cable and it might make sense to replace some of the older transformers at the same time.

First of all, can you confirm for me?  It's my understanding that keeping the existing submersible transformer in the vault and not replacing it doesn't really interfere with other work you might be doing on the cable.  In other words, you don't have to replace the transformer to work on the cables; is that right?

In fact, for many of the feeders you are working on, you are not replacing any of the transformers, so presumably you don't have to.  It's not a requirement?

MR. KERR:  Again, I would like to make the distinction that by the criteria which we have used to assess the eligibility of a project as non-discretionary, part of that criteria is the prudence.  And as we stated in, I believe it was, point E of the manager's summary, our understanding of need, one of the points with respect to need is the fact that if you don't undertake this work now, there will be a material increase in cost to go back and do that at a later dates.

So, again, not only is it prudent to replace the transformers while we are there, but if we were to not replace a transformer that's 30 or 35 years old while we're there, there would be an increased cost, in that when it does fail, we're now going to have to respond and replace it on a reactive basis.

MR. MILLAR:  That is one of the categories you identified to make something non-discretionary.  However, for segment or project -- I forgot what you call them.  For B1, you don't have that listed as one of the reasons.  You have B and C, imminent reliability, degradation and public and employee safety, but material increase in costs is not one of the categories you've identified.  Maybe I can --


MR. KERR:  With respect to, like, my example of replacing it on a reactive base, that that will be an impact on reliability, because, you know, we could have replaced the transformer while we were there, and, instead of doing that, it ends up failing and we have to replace it on a reactive basis.  So there is an impact on liability with that.

MR. MILLAR:  Are all the 600 beyond useful life?

[Witness panel confers]

MR. KERR:  I think an important question is really:  Is it the most prudent option to replace those transformers, if needed, while we are working in the area doing the cable?

MR. MILLAR:  Are prudent and non-discretionary the same thing?

MR. CASS:  Excuse me, Mr. Chair.  I think we're getting a little bit into argument here.

MR. MILLAR:  Let me rephrase the question.

MR. CASS:  I might just make the comment, sir, that I think it fundamentally underlies any expense by a utility that the Board is going to apply a prudence standard to any expense incurred by a utility.

From that point of view, I would suggest that it's not discretionary for a utility to take an imprudent approach to an expenditure, because there will be a prudence requirement of the Board.

I'm just illustrating I think that question is really more argument than an operational question about what can or should be done when particular assets are addressed.

MR. QUESNELLE:  Mr. Cass, I'll just -- there may be elements that go to argument, but the way I'm hearing the context in which prudence is being used both by your client and Mr. Millar is that it is something that was in the combination of projects.

The prudency goes to the timing of the execution of the program, and to that extent I think Mr. Millar's questions go to that linkage, not necessarily the prudence in a broad respect of whether or not the activity was prudent on a standalone basis.  But once you get into these projects basically being put forward on a temporal basis of prudence testing, I think the line of questioning isn't going to be something that is necessarily asking the Applicants whether or not this spending will be prudent in a general sense, but is the prudence being satisfied in a temporal basis in combination with other projects.

And that's the context in which I think it's being offered.

MR. CASS:  Fair enough, sir. I didn't understand the question that way, but that's fair.  Thank you.

MR. QUESNELLE:  Mr. Millar, that's how I heard it.  Is that...

MR. MILLAR:  Yes, I think that's right.  And frankly, Mr. Chair, I'm prepared to move on.  If the witnesses wish to say anything more about this, I'm happy to hear about it.

Mr. Cass may be right, that much of this will come out in argument, and...

MS. HARE:  Mr. Millar, you asked a question that I was interested in hearing the answer, but there was no answer given.

And that is whether or not all 600 are beyond their useful life. 

MR. KERR:  I don't have the exact numbers in front me with respect to that, but I can say that the decision to include the replacement of those transformers in those jobs would have been made based on, you know, taking into account the age and condition of those units encompassed within the jobs.

So that has been looked at, but I just don't have those numbers in front of me.

MR. MILLAR:  Would you like them, Ms. Hare, or is that sufficient?

MS. HARE:  That's fine.

MR. MILLAR:  Okay.  Let's move on.

I have some questions -- my final area is on project B16, the downtown station load transfers.

Is that you again, Mr. Kerr?

MR. KERR:  No.  I believe that is Mr. Simpson.

MR. MILLAR:  We'll give you a break.

Where am I?  I'm, again, just -- I used as the reference point School Energy Coalition Interrogatory No. 9, page 2 of that.  This was a document we had a look at yesterday.  Again, it's tab 6E, schedule 10-9.  There we go.  And page 2 of that.  And you'll see B16 down towards the bottom, downtown load transfers.

Again, for your categories of non-discretionary, this is an imminent reliability degradation issue; is that correct?  That is why this project is non-discretionary?

MR. SIMPSON:  Yes.

MR. MILLAR:  Thank you.

And I understand that what's called the Dufferin-to-Bridgman tie is a part of this segment; is that correct?

MR. SIMPSON:  Correct.

MR. MILLAR:  And that is a new tie that you are building between the Dufferin transformer station and the Bridgman transformer station?

MR. SIMPSON:  Yes.

MR. MILLAR:  And it will run two feeders to connect Dufferin to Bridgman?

MR. SIMPSON:  Ultimately four.  There's -- yes.

MR. MILLAR:  But two as part of this?

MR. SIMPSON:  Yes.

MR. MILLAR:  It has to go underground, which is why it costs what looks like a lot of money, $9 million?

MR. SIMPSON:  It's costly in that dense urban environment, yes.

MR. MILLAR:  Because you have to go underground?

MR. SIMPSON:  [Witness nods head]


MR. MILLAR:  And if I'm correct, currently there is no tie at all between these two stations; is that right?  No direct tie? 

MR. SIMPSON:  That's correct.  You can imagine the system as your fingers feeding loads from each side, and we have no ability connect the fingers right now.

MR. MILLAR:  So this is a new project; it's not a repair or a replacement of an existing asset?

MR. SIMPSON:  It is new.  However, I would like to point out that some work, the civil work, was undertaken in a previous year.

MR. MILLAR:  Yes, that's right.  In fact, it's sort of half-finished, if I'm not mistaken?  Maybe not half-finished, but you've done work on this project already?  What you want to do is finish it?

MR. SIMPSON:  Yes.

MR. MILLAR:  Okay.  And the purpose of this is to create redundancy between the two stations?

MR. SIMPSON:  Correct.

MR. MILLAR:  There were some questions about this in the technical conference, but just to recap, I understand that this is part of a larger initiative that the utility is undertaking to improve redundancy between downtown transformer stations.

MR. SIMPSON:  Yes.  Our concern is that we are not adequately covered today for major loss-of-station scenarios.

MR. MILLAR:  You said in the technical conference that it's a long-term job; it's not an overnight fix?

MR. SIMPSON:  Yes.  It's approached on a program basis, and connecting feeders and stations one at a time.

MR. MILLAR:  And this Bridgman-to-Dufferin is one component of that overall plan?

MR. SIMPSON:  Yes.

MR. MILLAR:  Correct me if I'm wrong, but even when this is completed, the Dufferin-Bridgman tie would only pick up a portion of the capacity that would be lost if one of the stations were knocked out; is that right?

MR. SIMPSON:  Correct.

MR. MILLAR:  It's just two feeders now, four feeders later.  I think a number of figures were bandied about, but maybe 15 to 30 percent of load is what I took from the technical conference.

MR. SIMPSON:  That's reasonable.

MR. MILLAR:  That's about right?

Just to recap, what your -- let me ask this.  I know there are engineering standards called "N - 1."  You would be familiar with that?

MR. SIMPSON:  Yes.

THE WITNESS:  And that means -- to put it in terms of someone who doesn't know what they are talking about -- you can handle one contingency but not more; is that right?  With the "N - 1" criteria?

MR. SIMPSON:  That's correct.  We need context for that, as well.

Remember that the downtown stations are a radial design, so that "N - 1" exists to a point, but it's radial in configuration.  And this ties program is meant to address certain shortcomings with that.

MR. MILLAR:  So do the current stations meet the "N - 1" criteria?

MR. SIMPSON:  In general, at a component and transmission supply level, but if we have something catastrophic occur at a station -- a flood, a fire, such as the Dufferin flood -- we do not have a workaround for that.

MR. MILLAR:  Even when this is completed, you'll have a partial workaround, but you won't have a complete workaround; is that fair?

MR. SIMPSON:  At this early stage in the program, you are correct, but ultimately we're looking to have much fuller backup or protection for that scenario.

MR. MILLAR:  Thank you.

So to summarize -- again, correct me if I'm wrong -- what you are proposing to do through this project is to build a brand new tie to create a redundancy that does not currently exist; is that correct?

MR. SIMPSON:  The intent is to provide redundancy for some high-impact scenarios where we currently lack protection.

MR. MILLAR:  So is that really non-discretionary, or is this an improvement to the system? 

MR. SIMPSON:  It's a recognition that risks such as a Dufferin fire can't be handled with the current configuration, and so this will address a big hole in reliability if an issue like that occurs again.

MR. MILLAR:  Again, I want to be careful here, because it does look like this may, generally speaking, be a good project that you want to build in these redundancies, but of course the question in ICM is:  Is it non-discretionary, and in your terms, is there an imminent reliability degradation concern, as you have it identified in your evidence?

It seems to me this is a project more about betterment than about preventing imminent degradations and reliability.  How would you respond to that, to the extent you haven't already?

MR. SIMPSON:  We differ in that perspective.  Our program recognizes that a lot of the existing station assets, the switchgears, transformers, controls, et cetera, are end-of-life or approaching end-of-life, and so both the risk of component failure in the station -- that risk is increasing over time.  We can only get to those replacements over a certain schedule.  And these feeder ties will give us the flexibility, again, for those high-impact Dufferin-type failures, where we just don't a workaround otherwise.

MR. MILLAR:  Okay.  That's very helpful, and I think the record is clear on this issue.  And to the extent people choose to raise it, it will be done in argument.  So I have no further questions on that.  Thank you.

Mr. Chair, I apologize.  I went significantly over my time limit, but I am finished now.

MR. QUESNELLE:  Thank you, Mr. Millar.

Mr. Rubenstein, you are up?  We'll attempt to take a break around the 3:00 o'clock, Mr. Rubenstein, so if there is a natural spot in your cross to break around there, that will be great.

MR. RUBENSTEIN:  Will do.  I have prepared a compendium of documents.  I don't know if the Board has it.

MR. MILLAR:  Panel, do you have the... okay.

MR. QUESNELLE:  I believe we do.


MR. MILLAR:  We'll give that an exhibit number,K3.2.  It is the Schools compendium for panel 2B. 
EXHIBIT NO. K3.2:  SEC COMPENDIUM FOR CROSS-EXAMINATION OF WITNESS PANEL 2B.

MR. QUESNELLE:  Thank you. 
Cross-Examination by Mr. Rubenstein:

MR. RUBENSTEIN:  I would like to follow up with something quickly that was talked about earlier, just recently, about the multi-taps issue.

Just so I understand, is the multi-tap a separate piece of equipment to the submersible transformer?  Like, would you need to replace the submersible transformer to replace the multi-tap, or could you do it separately?

MR. KERR:  If I can say the -- a non-switchable submersible transformer, we wouldn't be able to use it without having the multi-tap, so it's absolutely necessary to have a multi-tap to have that transformer powered.

MR. RUBENSTEIN:  No, no.  I mean could you switch out the multi-tap without switching out the submersible transformer?

MR. QUESNELLE:  Mr. Rubenstein, by "switching out", loose jargon, but I mean do you mean replace?

MR. RUBENSTEIN:  Yes, I apologize.

MR. KERR:  I think if there was a requirement to replace the multi-tap due to age and condition, it would not be prudent at all to replace the multi-tap and not the transformer.

MR. RUBENSTEIN:  But that wasn't my question.  Can you do it, and I'll ask:  Have you done it, because you've talked about how there's been a multi-tap issue?  So every time that you've replaced a multi-tap up until now, have you also replaced the transformer?

MR. KERR:  I don't have the exact numbers off the top of my head for that.  I can say that on a planned basis where we're doing planned work, like the power didn't go out in the middle of the night and it's an emergency or reactive repair, but on a planned basis, to ensure that we are doing the capital work in the most prudent manner possible, we have replaced the transformers along with the multi-tap, thereby eliminating the multi-tap from the system.

MR. RUBENSTEIN:  But could you change the multi-tap without changing the transformer?

MR. KERR:  From a purely hypothetical standpoint, yes.

MR. RUBENSTEIN:  Okay.  I was wondering the magnitude of cost.  What is the cost of changing a -- replacing a multi-tap versus replacing a transformer?  I don't need a specific number, but just sort of so we can get a sense of the magnitude of cost between these two assets.

MR. KERR:  I don't have that number off the top of my head, but maybe I can just walk through the process of what you would have to do and what costs come into play to illustrate the difference in cost between the two scenarios.

To simply replace a multi-tap, you would essentially have to de-energize the loop of transformers, which could be hundreds of customers -- sorry, you would first have to dispatch a crew to do the switching to de-energize the loop, go to the vaults adjacent to the submersible vault in which you want to replace the multi-tap, disconnect the elbows from those vaults, go back to the pad-mounted switch, re-energize the loop save for the submersible transformer which has now been isolated, replace the multi-tap, and then go back through the whole switching exercise again, which means giving a second power outage to the rest of the customers in the loop.

MR. RUBENSTEIN:  Wouldn't that also occur if you are changing the multi-tap and the submersible transformer?

MR. KERR:  I think that is one of the great benefits of doing the submersible transformer while we do the multi-tap, because if you don't and the submersible transformer fails later, you will have to do all that switching all over again.

MR. RUBENSTEIN:  I understand that, but back to my question about the cost just so we can get an idea of the cost.

MR. KERR:  So the cost would essentially be -- the only difference cost, since essentially you are going to have to do all those switching steps, is just the cost of essentially the material for the transformer itself, but I think there would also be a cost savings in the labour component of installing.

So if you just take the material cost of the transformer itself, you don't necessarily add that whole cost, because it's faster to also replace the transformer than to just replace the multi-tap.

MR. RUBENSTEIN:  Maybe the best way to do this is by way of undertaking, just if you could provide the cost of doing both, with all the labour and everything that comes with it, versus just replacing the multi-tap and the labour and anything that would come with it.  Could we do that?

MR. KERR:  I was hoping my explanation and walking through all the steps would make it clear that the difference in cost is really the cost of the transformer minus a small cost to take into account the cost savings for time of installation.

MR. QUESNELLE:  Mr. Kerr, unless you can point somewhere in the evidence that that takes place, I think the undertaking, if it's acceptable to Mr. Cass, should be taken.

MR. CASS:  All right, Mr. Chair.  I take it it's something, Mr. Kerr, that can be done without too much effort?

MR. KERR:  Yes, we can do that.

MR. CASS:  Thank you, sir.

MR. MILLAR:  J3.2.
UNDERTAKING NO. J3.2:  TO PROVIDE THE COST OF REPLACING A MULTI-TAP VERSUS REPLACING A TRANSFORMER.

MR. RUBENSTEIN:  Thank you very much.  I just wanted to ask some clarifying questions when I was reviewing the transcript from yesterday and the discussion.

Yesterday you had a discussion with Mr. Faye about tree-proofing conductors and how they help avoid outages compared to bare wire conductors, and you were talking about free-proofing conductors in the context of rear lot conversions.  Do you recall that?

MR. KERR:  Yes.

MR. RUBENSTEIN:  And you said they were good at preventing momentary interruptions?

MR. KERR:  I believe I said they could help with both, but -- both momentary and forced interruptions, but primarily their intended purpose is to really help with the momentary interruptions.

MR. RUBENSTEIN:  But they could help both?

MR. KERR:  Could, yes.

MR. RUBENSTEIN:  Thank you.  The second thing I wanted to ask you about was if you could turn up -- if you have Energy Probe's compendium from yesterday?

MR. KERR:  Sorry, just give me a moment.

MR. RUBENSTEIN:  No problem.

MR. KERR:  Sorry, are you referring to part 1 or part 2?

MR. RUBENSTEIN:  This would be part 1.  If you turn to page 17, there was a long discussion with Mr. Faye about assigning non-asset risk costs assigned to the underground option.  The evidence is that it's zero dollars.

And I think you replied at one point that these costs are in the millions, and I was wondering if you were suggesting that the zero number results from the fact that the actual number was very small and rounding makes it -- and when you round it, it ends up being zero dollars for that chart.

And I'll give you the context why I'm asking.  Since the model appears to calculate to two decimal places, to the nearest $10,000, then that would mean if the rounding was the reason for it being shown at zero dollars, then the actual costs would have to be less than $5,000, or rounded up to 0.01 for that chart.

MR. KERR:  Sorry.  So the question specifically is?

MR. RUBENSTEIN:  You replied at one point to Mr. Faye, I believe, suggesting that the zero dollar number results from the fact the actual number was very small for what would be a non-asset risk cost, and I was just --


MR. KERR:  I'm sorry, I said that the number was very small or...

MR. RUBENSTEIN:  You had mentioned that the costs are in the millions.

MR. KERR:  Right.

MR. RUBENSTEIN:  So I'm asking:  Were you suggesting by making that comment that the number is very small and that is why it doesn't show up, that any sort of non-asset risk cost would have to be very small?

[Witness panel confers]

MR. RUBENSTEIN:  I could show you the transcript reference, if that would be helpful.  This is at page 49 of yesterday's transcript.

And there was a discussion between Mr. Faye and you about the categorization and talking about what if a car hits a transformer.  And then at line 6, Mr. Faye says:

"Okay.  It caused an outage.  And so page 17, that number zero, I will repeat, we don't know what it should be, but we know it is not zero.


Would you agree with that?"

Mr. Kerr, you reply:

"Well, no.  I disagree, because like I said, this is a risk cost, and the numbers here shows only in millions of dollars.
So to have one pad-mounted transformer out of 7,000 hit by a car, I don't see how the non-asset risk could be in the millions of dollars for that."

MR. KERR:  I'm sorry, I thought we were talking about submersible transformers.  That is in reference to our discussion about the pad-mounted transformers.

MR. RUBENSTEIN:  The reference I took you to in the 2B with respect to non-asset risk in the rear lot construction segment.  It's on page 17.  I apologize if I was not clear. 

MR. KERR:  I think just to -- I can say that, you know, based on the history of the performance of our system and the assets, that that number of zero dollars for the non-asset risk is the correct number to use for the purposes of our analysis, to analyze the business case containing the jobs that we've put forward.

MR. RUBENSTEIN:  My question is this:  Is the number zero, or is the number some number that is greater than zero, but because of -- as you said, these numbers are in the millions, it rounds down to zero?

MR. KERR:  No, I'm saying that the number's zero.

MR. RUBENSTEIN:  Thank you very much.  That's one of my questions with respect to that.

I was wondering –- so this can be regarded with any member of the panel, because it would go to all the various and specific projects -- could we agree at a high level that until a job is completed and the project is energized, that the benefits you say flow from undertaking that job are not realized? 

MR. PARADIS:  At a high level, I think the right way to look at it is depending on the nature of the project, you may address some of the risk through partly executing the work, and that would vary depending on the nature of the work.

So I believe there are instances where the risk is contained in some part of the work, so again, depending on the specifics, you could actually address some of the risk by executing part of the work.

MR. RUBENSTEIN:  But we could say generally -- let's look at it higher-level -- if a project is to replace a single transformer -- submersible transformer, if we're going back to sort of the discussion we had previously -- until you actually replace it and energize that transformer, there's no benefit; you don't see the benefit that you are seeking, so reliability or safety or all those things?

[Witness panel confers] 

MR. PARADIS:  So if we were to use your specific example of a single transformer replacement -- and again, this is hypothetical in the sense that our projects are typically broader than a single asset replacement -- if you're question is regarding whether or not the risk associated with that specific asset, which is the reason why we're doing the work, would only be mitigated through completion of that single replacement, then I would have to agree, yes.

MR. RUBENSTEIN:  Next thing I would like to do is walk through the various programs.

There was a discussion with panel 1, and especially at the technical conference in a number of the interrogatories, trying to get an idea of what you've done with respect to these projects in past years, what type of work that you've done.  And with the discussion we had with panel 1, it was -- Toronto Hydro's position is they can't provide -- none of the segments or the projects that you are doing now are truly comparable to what you've done in the past, and that you couldn't provide the spending that you're seeking to spend this year versus other years.

So I want to walk through the projects and get a sense of what is truly something -- a new undertaking, and what is not.

^ printed for check ^ So with respect to your underground infrastructure segment, my understanding of this project is that it consists of 27 separate jobs to replace direct-buried cable with cable in concrete-encased ducts, and air-insulated pad-mounted with switchgears units with SF-insulated pad-mounted switchgear units.

Is that, at a high level, correct?

MR. KERR:  Yes, that's correct.

MR. RUBENSTEIN:  Is this the first year you've done this type of work, replacing direct-buried cable with cable in concrete-encased ducts and air insulated pad-mounted switchgear units?

[Witness panel confers]


MR. KERR:  This is the first year in which we have used this approach.  By "approach" I mean using the ICM criteria to identify areas within our asset base that require capital investment.

MR. RUBENSTEIN:  That wasn't my question.  My question was:  Have you done this type of work in previous years?

MR. KERR:  So if I'm understanding the question correctly, you are asking have we ever replaced a piece of direct-buried cable in our system before, and given that we have shown it's a historical reliability issue and the fact that we have hundreds of kilometres of direct-buried cable which need to be addressed, then I would say yes, we have replaced pieces of direct-buried cable before.

MR. RUBENSTEIN:  From my understanding with panel 1, there's an inability from Toronto Hydro to quantify the cost of doing that over the last few years with this year?

MR. KERR:  If I recall, the comment from panel 1 was that there's an inability to do that comparison, in that the way in which the jobs were selected has changed.

Yeah, we only have a finite number of types of assets in the system, so it may be that we are addressing similar or same types of assets as we had done previously.  However, the methodology which was used to direct us to those assets that need replacement is fundamentally different now.

And I believe the comments were that, you know, it's difficult to compare just on a dollar -- you know, how many dollars went into direct-buried cable.

I believe the words used were:  It would not be a meaningful comparison, because the methodology is not different.

MR. RUBENSTEIN:  I don't understand.  I'll be frank.  I don't understand what you mean, the methodology was different.  You spent some money in 2010 doing this sort of work.  You spent some money in 2011 doing this work.  Now you are proposing to spend some money in 2012, and I'm trying to understand how much you spent in 2011 -- I mean, in '10, '11 and '12.

I understand you might not feel that it's meaningful.

[Witness panel confers]

MR. PARADIS:  I think just to reiterate, if you will, what we mentioned earlier this week, I think the distinction we wanted to make is simply that we can't portray what is in front of the Board at this time as simply being some form of continuation of activities that occurred in the past while the asset base is in many ways the same.

The process through which we developed the specific jobs that are in front of the Board for consideration at this time was vastly different, in the sense that we took the ICM criteria as the starting point for identification of jobs.  So the process this time around was to review our asset base, look at the criteria, and then, from there, define segments and job that would align with the immediate needs of the system.

So the challenge comes from the process we took to identify jobs as opposed to what potentially happened in the past.

MR. RUBENSTEIN:  I understand that.  That's been the position of Toronto Hydro throughout this proceeding.

But at the end of the day, you had spent money on doing this sort of work, maybe you might -- the methodology of where exactly you do it and for the reasons why you did it may be different, but you did spend money doing it in 2010 and 2011, and you are seeking to spend money for 2012.  Is it my understanding you actually can provide the dollar figure amount?

[Witness panel confers]

MS. HARE:  Mr. Rubenstein, in your own compendium on page 13, is that not the table that you are asking them to provide, table 5?

MR. RUBENSTEIN:  Well, that would be my next question, would be -- from my understanding, this might be -- would include some other things.  I might be wrong, and if the panel would correct me to that, then this would be a lot quicker.

MR. PARADIS:  Could you just repeat the reference?

MR. RUBENSTEIN:  Ms. Hare's reference was on page 13, page 13 of our compendium on table 5, and this is taken from your 2011 cost of service application.

[Witness panel confers]

MR. KERR:  Mr. Rubenstein, I just would like to point out that I believe this table 5 here, where it says underground direct buried, it is referring to a portfolio that historically we used a bucket, if you will, to say this much money in our entire capital plan will be dedicated to this underground direct-buried portfolio.

However, that portfolio no longer exists, and that portfolio is not directly analogous to, say, the number of dollars we're proposing to spend just on direct-buried cable.  So I think with respect to Mr. Paradis' comments and also the comments from panel 1A, that's where we're saying that it's not exactly a one-to-one comparison, because the portfolios are now different, so the -- the portfolios are different.  They don't line up one for one.

MR. RUBENSTEIN:  I understand.  Back to my question, my last question before the break.  Can you do this?  I understand that you don't think it's meaningful, but do you know how much you've spent on placing direct-buried cable with cable and concrete-encasing ducts and insulated pad-mounted switchgear units for, let's say, 2009, '10 and '11?  Do you know the answer to -- Toronto Hydro, are they able to determine that?

[Witness panel confers]

MR. PARADIS:  If the question is as to whether or not we have actuals for our spend in any given year, yes, of course we do.

MR. RUBENSTEIN:  I'm not sure that is what I asked.  I hope it's what I asked, but -- so the answer is, yes, with respect to what you spent on replacing direct-buried cable with cable and concrete-encasing ducts and insulated -- similar things you are seeking to do with your B1 segment, you have the actuals for similar things in 2011, '10, 2009?

MR. KERR:  Again, we have the actuals for -- you know, for '9, '10, '11 for that underground direct-buried portfolio, but the ICM underground infrastructure segment is not analogous to that portfolio.  The ICM segment would really just be a subset.

MR. RUBENSTEIN:  I understand.  With that subset -- there's a subset in that number.  Is Toronto Hydro able to break that out?

[Witness panel confers]

MR. PARADIS:  I think we have essentially to go back to our earlier statement that, generally speaking, it is possible to try to match categories between work that has been executed in the past and what is being proposed as part of the ICM.

This would be a time-consuming exercise, given the way in which we produced the jobs for this submission, and I would like to reiterate that it would have some limits in terms of meaningfulness, if you will.

MR. RUBENSTEIN:  To speed up the cross-examination, I am seeking -- and I am going to go through every -- you know, I could go through every project and reference parts in previous applications where you are doing similar things.

I am seeking this information, and I understand that it might be time consuming, but we asked this in interrogatories.  You were asked in the technical conference for this information.  I think it would be very meaningful to the Board to have a sense:  Are you spending more?  It could be less, or is it roughly the same?

And I look to the Board's guidance to require an undertaking.

MR. CASS:  For clarity, Mr. Chairman, I object to that undertaking, for all the reasons that the witnesses have given.

Toronto Hydro has taken a careful look at the work it needs to do that meets the ICM criteria.  As has been discussed and was discussed with the first panel, it certainly is the case Toronto Hydro's assets remain generally more or less the same.  And as a result, the set of assets the Toronto Hydro is working on, of course, is more or less the same.

However, the work is not the same.  The work that is being discussed here is the work that Toronto Hydro settled on when it went through the ICM criteria and determined what is the work it needs to do that meets the criteria.

The witnesses have explained that, at best, it would be a very difficult exercise to pull together this information that Mr. Rubenstein is looking for.  And in my submission, the value is just not of sufficient -- there's not sufficient value to warrant this exercise that he wants to pursue.

MR. QUESNELLE:  Thank you, Mr. Cass.  One moment, please. 

[Board Panel confers]


MR. QUESNELLE:  Ms. Hare made a very valuable suggestion, and I think we'll take her up on it.

We'll take our break and we'll deliberate it over the break as a Panel on this, and we'll respond with an answer. 

We'll return at 3:25, please. 

--- Recess taken at 3:06 p.m.

--- On resuming at 3:28 p.m.

MR. QUESNELLE:  Please be seated.  The Panel has discussed the matter of the undertaking and would like to hear a little more you from, Mr. Rubenstein, as to your intended use of the information and the value, to ascertain the value that we should place on it and how it would be of assistance to the Board.

So I wonder if you can help us out on that.  We're trying to balance that value you place and the value it would provide the Board with what we see would be a considerable undertaking, depending on the depth of information you require and the scope of it.

MR. RUBENSTEIN:  Well, there are a number of things we're looking to see with this information, first of all, sort of  understanding historically:  Is Toronto Hydro spending more or less on similar sort of projects or roughly same, to get a sense of sort of what the changes are in their rate of pay?

I think it goes, a lot of it, sort of to the non-discretionary aspect.  And I would just note that I know we're at the hearing, but these interrogatories were asked by a number of parties, which were refused.  We again responded in the technical conference about this.  We had asked for this sort of information.

The second thing, it gives us a sense of sort of what is truly sort of with -- which activities are -- the utility does on a routine basis, maybe not this specific -- I mean, that specific job, clearly they will not do it twice, but it gives us a sense of sort of the historical pattern, to have a sense of what is truly incremental and what is truly -- what the -- with respect to 2011 rates, what is truly sort of -- I don't want to say embedded, but what are rates based on when the Board granted -- you know, approved the settlement agreement, and what Toronto Hydro ended up spending money on.

Even this information -- and in fairness to my friends, even if the table was correct that Ms. Hare had drawn the panel to, there was a settlement agreement in that hearing, so that actually would not be the actual number that was spent in 2011.  It would probably be -- could be less for some things; could be more.  That's the importance of this information.

MR. QUESNELLE:  To the extent we've heard -- and we'll hear more, but to the extent we've heard the witnesses respond about two things, the difficulty and also the relevance and basically how informative the information will be, to the extent their answers have been around it is a different lens in which we capture and propose these projects -- and it goes to the non-discretionary nature of them.  And what they see as the test on that is the need and prudence based -- the prudence based on the temporal issues of the timing in conjunction with other projects.

Does part of your -- the value of the response you'll get from this take you to an examination or an argument as to whether or not these projects are truly non-discretionary?

MR. RUBENSTEIN:  The need component, as stated in the Board's report and in the filing guidelines, it's not simply non -- with respect, it's not simply non-discretionary.  It's also outside of which -- I think I actually quoted this section in my first -- I'll read it -- in filing guidelines, "Need":
"Amounts should be directly related to the claimed driver and must be clearly non-discretionary.  The amounts must be clearly outside the basis upon which rates were derived."

So I think that gives us a proviso on that second part.

MR. QUESNELLE:  To the extent that the applicant were to provide a comparison of like activities if that is a subset, or a matching of like activities in the projects they are providing now, and if there were a way to -- as close a match as possible of historic activities that were given, I'm sure they will have caution as to read into that that these are the same old, same old.

And what we're trying to do is, say, give you the information you need to satisfy your discovery requirements and takes you to your argument that you're suggesting here that you may want to make argument on, but at the same time allow the applicant to frame it in such a way that it respects the nature of their proposal.

MR. RUBENSTEIN:  I think the record is clear that my friend don't want to provide this information for many of those reasons that you just stated.  I think it's clear on the record, and they would be free in any undertaking to provide as many cautions or reasons why they don't think it's applicable, and then in argument to explain why.

I don't necessarily think that would be correct, but it's clearly in their prerogative to do so.

MR. QUESNELLE:  Thank you, Mr. Rubenstein.  Mr. Cass?

MR. CASS:  Thank you, Mr. Chair.

Mr. Rubenstein made the comment he said it's clear they don't want to provide this information.  I don't think that is a fair characterization.  The concern is about the amount of work involved.

Perhaps I might come at this way, if I could, Mr. Chair.  There was reference to Exhibit K3.2, which is a School's compendium for this panel, at page 13, and the types of numbers that are shown there in table 5.

MR. QUESNELLE:  Yes.

MR. CASS:  I'm afraid I may misspeak here, Mr. Chair.  So if I do, someone from Toronto Hydro, I hope, will get an opportunity to correct me.

My understanding, though, is that numbers at the -- of the natural that are presented here at this level that have been presented in different cases, previous cases, the numbers could be collected and collated at a level like that.  Toronto Hydro could do that, and Toronto Hydro could put in the answer the caveats as to why those numbers, in Toronto Hydro's view, are not meaningful.  That can be done.

The concern that is being addressed here is that to actually go beneath these numbers, to pick out actual jobs that are directly comparable to the jobs in this case would be a manual task, to go back in these previous years of work, pull out those jobs that are truly comparable and put numbers to them and put that all together in a dollar -- some sort of a dollar figure that will be comparable, working from the job level up.

That would be an enormous undertaking.  It would jeopardize the timing of this entire proceeding to do that.  That's the concern that I think I'm trying to express to you.  It can be done at a different level.  It can be done at the level of page 13 of this exhibit, I believe, but then Toronto Hydro would attach the caveats as to why it would say that is not an appropriate approach.

MR. QUESNELLE:  To the extent there's two ways, I think, to approach the extensive nature of the task -- and I believe, Mr. Rubenstein, you are about to take us through a series of different types of activities within the business cases and at the job level, and seek the same type of information, I believe.

MR. RUBENSTEIN:  It might not be necessary.

MR. QUESNELLE:  To the extent that -- I was going to suggest there are two ways to get at this, and we will hear from both of you.  We can either do it at a subset of the request, meaning if we were to drill down on an activity, for instance, just to give perhaps some directional basis for Mr. Rubenstein that -- to pick one, what we're looking at here is the underground direct-buried capital requirements, and the project you were mentioning earlier, Mr. Rubenstein, on the replacement of direct buried and converting it to a duct bank scenario, and I believe the second element to that project was the transformer replacement.

MR. RUBENSTEIN:  Switchgear replacement.

MR. QUESNELLE:  Switchgear.  If we were to take that activity and historically go back and take a look at, within that, is there something we can do at a job level, then I would think - and I will put this forward - that there may be something that is amenable to going to a job number type of search on this, that you have that type of activity in a contract-out scenario where you've got some units and you've got some activities that closely matches what Mr. Rubenstein is looking for, and we select one or two of that nature that give you the ability to say, All right, here it is.  Here's a couple of examples of where the historic spending is X, the proposed is Y, and make your arguments on that, or, to Mr. Cass's suggestion, we go to all the activities on an aggregated basis at a higher level with caveats, which -- you know, we could either drill down on a couple, or stay at the high level with the caveats on a broader base.

MR. RUBENSTEIN:  To some degree, what is better for the Board at the end of the day?  Which information would sort of be most helpful to the Board is what would be most helpful to me at the end of the day.

I mean, I understand the time constraints and --


MR. QUESNELLE:  If you could leave it with us, we can take a look at that, one option or the other, and this Panel can take a look at it ourselves and ask for an undertaking that suits what we see as --


MR. RUBENSTEIN:  I'm open to some way to have some information at the end of the day.

MR. CASS:  Mr. Chair, might I have an opportunity to consult and report back to you, perhaps tomorrow morning, even on just doing it on a couple of activities in that sort of detailed level as to what the implications would be for time, and so on?

MR. QUESNELLE:  Why don't we carry this over until tomorrow, then?  And we'll have something for you, Mr. Rubenstein, in one fashion or the other.  And we will -- hearing what your submission is on it, and what you are attempting to discover here and what would be helpful to the Board.

And we'll further discuss this in the morning.

MR. RUBENSTEIN:  My only caveat with respect to the individual projects would be at the end of the day, I would be seeking this not just with respect to B1, but to B2 and B3, to have a sense of what they've previously spent.

And I'm amenable to any compromise, to having some sort of --


MR. QUESNELLE:  I think the activities that Mr. Cass has just identified is within that spirit, so...

Thank you.

MR. RUBENSTEIN:  I really only have now one question left, to speed things along.  And if I could take the panel to page 45 to 46 of our compendium, it's simply a list -- this is with respect to the Hydro One capital contributions.  I'm wondering if we can just go through the list, and this would be especially to the costs to projects where there is only one year of costs for it.

The underlying asset that the study is being done for, the engineering study's being done for, is Toronto Hydro saying that -- and I'll give an example.  If we go down the list to the Glengrove TS switchgear -- sorry, the one below that, the Malvern TS 2 new CB engineering study, it's only for one year you are seeking funding for it, 1.3 million.

Is Toronto Hydro stating that within that year, the underlying asset, the Malvern TS 2, there will be some sort of replacement done in that year?  Or just that a study will be done in that year? 

MR. SIMPSON:  In reference to Malvern TS, the work concerns the two new circuit breakers and the associated engineering study.  And that is our current estimate with Hydro One on the cost; they would charge us for that work.  And those costs would be incurred, it was planned, for 2012.

MR. RUBENSTEIN:  I understand the costs will be incurred.  You will pay Hydro One the $1.3 million in 2012, but will Hydro One do the work on the asset in 2012? 

MR. SIMPSON:  It will depend on the terms of the contribution agreement that we sign with Hydro One, and the likelihood is that the work is in the future.

I would just remind you the CCRAs are trued up after the work is completed.  The estimate is agreed on, and then the actuals that come to pass a year later, that's done with a true-up.

MR. RUBENSTEIN:  So if I go through these projects -- and there are a number of studies over two years, so if we use the third one, the Wilshire TS switchgear replacement and engineering studies, it's for three years.  So essentially, it will -- the underlying asset will not -- whatever Hydro One is going to do to that underlying asset that requires an engineering study from you, or payment for an engineering study if it won't actually be worked on in that year, it won't be complete, whatever work, the in-service of that work will not occur in that year?

MR. SIMPSON:  It will depend on the specifics of each project.  For this Wilshire example, for year 2012 it's showing $70,000 of engineering work, and that is underway.  In year 2013, the corresponding capital work for the upgrades that HONI would provide are expected to occur in year 2013, probably be trued up and finalized at the end of '13 or early '14.

MR. RUBENSTEIN:  So instead of going through all of these and asking similar questions, I wonder if we could have an undertaking to just have a sense of the underlying work that will have to be done, in what years do you expect the underlying work will be done.

So that if you're doing an engineering study in -- or you're paying an amount to Hydro One this year, as an example, whatever the -- for some sort of project that is going to be undertaken, when will -- or if you know when that project would expect to be undertaken.

MR. SIMPSON:  The answer is in our evidence, Mr. Rubenstein.  The expected schedule for these projects are in the evidence filed.

MR. RUBENSTEIN:  My understanding -- I didn't excerpt all the evidence, but it does not specify -- the engineering study might be done in 2013, that you are paying for in 2012 or 2013, but that engineering study is for some sort of either replacement or an upgrade or some sort of work that has to be done, but that's not specified.

MR. SIMPSON:  Bear in mind a lot of this work are enabling projects, so that we can do subsequent and associated upgrades on equipment in that area.

So the schedule provides the year when we incur that cost from Hydro One, and those are accurate and shown year 2012, 2013.

MR. RUBENSTEIN:  No, I understand you have to pay the money on the years you are stating that you are paying the money.  I fully understand that.

I just want to know the underlying work which all these studies are going towards -- you're undertaking them for a reason, for some project to be undertaken at some point -- when would those be done.

MR. SIMPSON:  There will be examples where an engineering study is done one year, and the capital upgrades associated may not take place, you know, in the next three to five years.

But that is an important element of the planning work because of the lead-time involved and the windows for replacement.

MR. RUBENSTEIN:  I don't disagree with you at all.  I'm just trying to get a sense of when that work would be done for each of these engineering studies. 

MR. SIMPSON:  Fair enough.  Could you just restate the undertaking you are after?

MR. RUBENSTEIN:  Sure.  I'm seeking for all the Hydro One capital contributions you are seeking to do, provide when is it expected that the work will be completed for whatever the underlying project will be.

So for an example, if you are doing an engineering study for some transmission station, not when you will do the engineering study, but when will the work be completed that that engineering study is trying to look at.

MR. SIMPSON:  Yes, that can be provided.

MR. MILLAR:  J3.3. 
UNDERTAKING NO. J3.3:  FOR ALL HYDRO ONE CAPITAL CONTRIBUTIONS THESL IS SEEKING, PROVIDE ESTIMATED TIME FOR THE WORK TO BE COMPLETED FOR EACH PROJECT.

MR. RUBENSTEIN:  Those are all my questions.

MR. QUESNELLE:  Thank you very much.

I believe, Mr. Brett, you will be up next?^ 
Cross-Examination by Mr. Brett:

MR. BRETT:  Yes.  Thanks, Mr. Chairman.

Panel, I have some questions.  As I mentioned yesterday, I'll have fewer because of the amount of questioning that has gone on.

I sent a compendium of materials around about 10:00 o'clock this morning.  Does the panel have the materials I sent?  I think I would have sent it to Mr. Cass, probably. 

MR. QUESNELLE:  Unless it was also directed to...

MR. MILLAR:  It has been circulated -- I don't know if it's been circulated.  It has been, I believe, received by the Board electronically.

MR. BRETT:  I have hard copies here, so I can give you those.

MR. MILLAR:  If there are hard copies, that would be best.

MR. QUESNELLE:  Thank you, Mr. Brett.

MR. MILLAR:  Mr. Chair, we'll call this Exhibit K3.3.  It's the –- yes, I'm sorry, the BOMA compendium for panel 2B.^ 
EXHIBIT NO. K3.3:  BOMA COMPENDIUM FOR CROSS-EXAMINATION OF WITNESS PANEL 2B.

MR. BRETT:  You've got them up there?  All right. 

I want to start by referring you, actually, to a piece of the evidence, which is tab 4, B1.  It seems like we're destined to talk about this direct-buried issue, but it's probably as good an example as anything to make the sort of point that I want to make, the information I want to find out.

So if you turn up tab 4, schedule B1, that is your evidence, page –- sorry, page 4, if you would, please.

Maybe you could put page 4 on the screen?  Okay.

I want to just read briefly from this.  "The number of interruptions" -- I'm on the first full paragraph on that page, page 4:
"The number of interruptions due to direct-buried cable failures has exhibited an increasing trend since 2000 as illustrated in figure 1.  A slight improvement between 2007 and 2010 was due to direct-buried cable replacement activities that started in 2007."

Now, you would agree with me that this is a program that didn't start last week or last month?  These activities started, as I understand it, in earnest in 2007; is that correct?

MR. KERR:  Yes, that's correct.

MR. BRETT:  In each year since 2007, there has been a substantial amount of money spent on these activities; right?

MR. KERR:  Correct.

MR. BRETT:  I'm looking, for example, at Mr. Rubenstein's compendium at page 3, and I won't dwell on this, but as an example, that's D -- that's Mr. Rubenstein's compendium at page 3 under the title "Operational Investments".  Is that on the same page?  I had some trouble following the questions on his compendium, but I have that as page 3; right?

MR. KERR:  Yes.

MR. BRETT:  There, if you look at table 1 on page 3, across from the rubric underground direct-buried, you see the following:  2008, 23.8 million; 2009, 31.9 million; 2010, that's the bridge year, 65.2 million; and 2011, 62.6 million.

So what we have here are the actual expenditures on direct-buried replacement, direct-buried cable replacement for 2008 and 2009, and we have an estimate of what the actual expenditures were in 2010, because bear in mind this exhibit relates to the 2011 case, the last cost of service case that you got approved here at this Board.

So for 2010, we have an estimated expenditure of 65.2 million.  I guess eventually we'll find out, in the next week or two, what that number actually, but it has been estimated at 65.2, and 2011 you asked for 62.6.

So ironically we know what you spent in 2008 and 2009.  We don't yet quite know what you spent in 2011, but you asked for 62.6 million; correct?

MR. KERR:  Correct.

MR. BRETT:  And that is all in respect of the activity of replacing direct-buried cable; correct?

MR. KERR:  Just to make the distinction, that's not just 62 million on the replacement of the cable, but there would be other assets that would have been replaced that fall under that portfolio of --


MR. BRETT:  All right.  You keep saying "portfolio", but underground direct-buried is what it says.

MR. KERR:  Right.

MR. BRETT:  Then there is a second category that says underground rehabilitation, which is different; correct?

MR. KERR:  That's correct.

MR. BRETT:  So you then go on to say that -- so what you've given us here is a snapshot at a point in time of this activity, and you say that you have -- if I go back to page 4 of that same document, it says here you have 887 circuit kilometres of direct-buried cable remaining in your system and that that represents 7 percent of all underground primary cable.

Now, you then say, of the 887 kilometres, approximately 580 require immediate attention.  I just want to ask a couple of questions about these statistics.

Now, I just want to get a picture of how this fits in the large scheme of things.  Now, I think you have said elsewhere in your evidence that you have about 5,700 kilometres of underground cable.  Is that a familiar number?  In other words, the 887 constitutes 7 percent of 5,700, approximately?

MR. KERR:  Yes, I believe that number, it rings a bell and I believe it's referring to all underground cable we have in the system.

MR. BRETT:  That's right.  Now, this just for my clarification.  There's a couple of information questions in here.  Is all the underground cable, other than the direct-buried cable, cable that's encased in concrete conduits?  Is that a fair statement, or is there a third category that is not in this?

[Witness panel confers]

MR. KERR:  So with respect to that number of about 5,000 kilometres of underground cable, there's a variety of legacy construction methods that were used to previously install the cable.  So encompassed within that number of 5,000 kilometres, setting aside the direct-buried, I believe that number also includes the secondary service connections to homes, which are underground, which would be essentially a direct-buried conduit.

There is some primary cable which is direct-buried conduit.  That number would also even include some very old cable that may still be in clay ducts in the downtown core area.

And, again, a subset of that number would also include new cable in concrete-encased duct, but there's a variety of construction methods that that encompasses.

MR. BRETT:  So does that just -- that's not just primary cable?  That's all types of cable; is that what you're saying?

MR. KERR:  Yes, I believe that's all types of underground cable we have in the system.

MR. BRETT:  Thank you.  Now, of that 580 kilometres, how much of that have you forecast to fail in the next 12 months?  Do you have that number?  Have you analyzed that?

[Witness panel confers]

MR. KERR:  We don't have exact expected probabilities of failure for each and every cable segment, and a segment defined by the length of cable between two splices or terminations.  When we look at the expected likelihood of failure, we're looking at, you know, the expected likelihood of an outage due to a larger area.  We don't look at the cable in, like, 5-metre segments or 10-metre segments.  We look at the area that would be impacted.

MR. BRETT:  Okay.  Now, you have -- your evidence suggests that you have some older cable, which was -- I think the way you describe it is that it was installed in the '50s and '60s, prior to 1990, sort of an early version of cable, not the TRXLPE^, but the XLPE.

I think you make the point repeatedly that that cable is one that is failing a lot, and what I would like to ask you is:  When you've chosen your priorities for these jobs that you are going to do -- and you list those jobs in priority, of course, in your evidence in this section -- do you take into account, have you focused particularly on areas where you have this very old cable?  Or are you applying the test of -- as I recall, your basic system of setting priority is outages, in one fashion or another.  We discussed that, I think, with the first panel. 

My question here is:  Have you focused in on that older cable, which is the one that is failing repeatedly?  Or when you select a job, are you simply selecting the cable based on -- the piece to do simply based on outage data?  Or, as you say, convenience data?

MR. KERR:  So what we're saying in the business case is that the -- not the cable from the 1950s, but the XLPE cable that has these inherent manufacturing defects indeed are the largest contributor to the number of faults on direct-buried cable.

That's not to say that -- you know, we may have an area where there's a mixture of -- there's a cable segment which is the XLPE, and then there are some segments of the even older cable.

But primarily we're focusing on the XLPE with the inherent defects, because that is by and large the main contributor to the outages.

MR. BRETT:  That's the cable that was installed prior to 1990?

MR. KERR:  Yes.

MR. BRETT:  Just on that note, maybe just -- if you could turn up the -- one of the pieces of my compendium, I think it's the thickest item there, is your distribution system plan, 2012 to 2021.  This was filed last year, as you know, in -0144.

And I would like you the turn up the page 3.2.1 of that plan -- section 3.2.1 on page 22 of that plan.

Do you have that? 

MR. KERR:  Yes, I have that.

MR. BRETT:  Now, this plan speaks of essentially, well, two things.

If you go over to page 23 of that document, the first short paragraph:

"As part of the underground system sustaining program, more than 80 percent of this cable type..."

This is in reference to the old cable, the XLPE:

"... is targeted for replacement over the 10-year period with TR XLPE cable in concrete-encased conduit."

Is that still valid, that comment, as far as you're aware?

MR. KERR:  Yes, that's our...

MR. BRETT:  That's your 10-year plan?

MR. KERR:  Yes.

MR. BRETT:  Right.  And just going back to the previous page, it talks about a 10-year plan to, let's say, preserve the reliability of the underground system.  And part of that -- that plan shows about $200 million being spent over a 10-year period.

Is it the plan basically to replace all 877 kilometres of this cable, or all of the 580 kilometres that you mentioned as requiring immediate attention?  Is it the plan to replace either of those quantities, all of either of those quantities in the next 10 years?  Is that still the plan? 

MR. KERR:  Sorry, just my earlier response, my previous response, I wasn't quite complete.

I was just saying that the replacement with the TR XLPE in concrete-encased duct, I wasn't saying that's still our plan; I was saying that is still our construction methodology.  So that's still our standard.

MR. BRETT:  But that's still your plan, as well?  You are talking about doing an amount of work over the next 10 years that started in -- according to this plan will start in 2012 and run to 2021.

Now, in fact, you've started -- we now know you started earlier.  You started in 2007 and you're ongoing.

And I won't say anything about how you wish to characterize this; you can characterize this as you will, and you'll do that in your argument and your responses.  But I'm looking at the activity here, and this is a quantitative dollar volume of activity; correct? 

MR. KERR:  If I may point out, this plan was submitted as part of the -- I believe the cost of service filing, so –-

MR. BRETT:  No, actually it was submitted as part of the IRM filing in –0144.  There's a predecessor plan submitted as part of the cost of service.

Before you get into this, Mr. Cass, if you look at the upside right-hand corner, you'll see there, the front page of the exhibit, you'll see there "EB-2001-0144."

That was last year's IRM filing, right?

MR. CASS:  Sorry, Mr. Chair.  We're just not sure why Mr. Brett is telling the witness that was an IRM filing.

MR. BRETT:  I'm sorry, it's your -- I thought you were referring to your 2011 cost of service.  My apologies.

What I meant to say was the January 2012 cost of service filing.

MR. KERR:  Yes, that's correct, where -- what I was trying to say was that this plan was submitted as part of our cost of service filing, but now really this plan does not apply to the business case segments under our IRM filing.

MR. BRETT:  But the plan -- all right.  I understand, I think, what you are saying, but presumably this plan still represents your long-term plan.  This is a plan that goes out for 10 years.

Are you saying this plan has been ripped up and thrown away?

You have a plan like this that you produce every year now.  You update it each year, according to what you've said. 

[Witness panel confers]


MR. KERR:  With respect to this specific plan, this plan was created based on assuming 10 years of cost of service.

And we have not updated this plan, though I should say it is our intention to update the plan, but we have not updated the plan.  And we do every year update the plan to look out to the future.

But I think this plan was created not using the ICM criteria.  So now that we have submitted -- essentially the business cases that we have submitted are the new two-year plans, '12 and '13, and we do not have a new 10-year plan based on the IRM or ICM criteria.

MR. BRETT:  All right.  Not yet, you don't have it, but you will have one, or do you know?  Is it the purpose to update this plan at some point, this 10-year forecast or plan of activity?

MR. PARADIS:  Yes.  I think it's proper utility practice to have, at a high level, a long-term vision of what you would consider to be prudent activities for the utility.

MR. BRETT:  Particularly if you have as one of your objectives to take out of service 887 kilometres of bad cable; right?  In other words, are you going to keep at this till you take it out?  And I think the answer, it looks like from this, is you are going to carry on until you get all of this out, take you 10 years.

MR. PARADIS:  I think the distinction my colleague, Mr. Kerr, has tried to make is this was the plan that was meant to direct our efforts in a cost of service regime; whereas now, given our circumstances, we've reevaluated the needs.  We have narrowed it down to what is currently before the Board, and an update to the plan may happen, but that will be separate from what we consider to be necessary and as before the Board as part of this filing.

MR. BRETT:  Are you doing -- are you laying any new direct-buried cable of the new type, the TRXPLE, that you don't put in concrete ducts, or is all of your new cable that you are laying now in concrete ducts?

MS. BYRNE:  Our standard practice expects that we'll be using concrete-encased ducts when we are in the travelled portion of a roadway.

MR. BRETT:  Sorry, the last piece, please, again?

MS. BYRNE:  When we're in the travelled portion of a roadway, our standard practice is to use concrete-encased ducts.

MR. BRETT:  What if you're not?  Where else could you be?  Could you be underneath someone's lot?

MS. BYRNE:  Yes.  The service cables that would go to an individual service may be --


MR. BRETT:  No, but for the primary cable?

MS. BYRNE:  Oh, primary would be in concrete-encased duct, according to our --


MR. BRETT:  All of the primary that you are now laying would be laid in concrete ducts?

MS. BYRNE:  Yes.

MR. BRETT:  Regardless of where it is laid; is that right?

MS. BYRNE:  We have the option in our standard practice that if it's on private property --


MR. BRETT:  Sorry?

MS. BYRNE:  On private property, we may choose not to use concrete duct, but in public right of way we will use concrete duct.

MR. BRETT:  What percentage of your primary cable is on private property?  In other words, what percentage of your system does that apply to?

MS. BYRNE:  I can't quantify it, but I expect it's minuscule.

MR. BRETT:  Minuscule, all right.  I would just like a couple of questions on the other topic we seem to have been talking quite a bit about, which is rear lot conversion, and I promise I won't ask anything Mr. Faye asked, because I couldn't ask it nearly as well as him because, unlike him, I'm not an engineer, or at least I wasn't president of a utility.  He may be both, for all I know.

First of all, again, just I want to take a similar approach.  I want to get kind of a sense of how significant this is in the overall scheme of things, and I think what you've said is, in your evidence, that you have 12,000 circuit kilometres of rear lot service at the moment?  Is that roughly right?  That's the number that sticks in my mind.

MR. KERR:  Do you have a reference?  My apologies.  I see here on tab 4, schedule B6, page 12, line 13.  That's actually 12,000 customers.

MR. BRETT:  12,000.  Now, that is rear lot plant; correct? 12,000 customers, and I think I might have said metres, but that is 12,000 customers and 1,000 circuit kilometres of rear lot plant, right, at the moment?

MR. KERR:  That's correct.

MR. BRETT:  Now, is all of that rear lot plant aboveground?  My understanding from reading over on page 14 of your -- of that same piece of evidence -- that's tab 4, schedule 6, which is your evidence entitled "Overhead Infrastructure and Equipment Rear Lot Construction Segment".  It runs to quite a few pages.

On page 14 of that, looking at that graph, I'm left with the impression that part of your rear lot plant is underground; is that right?

MR. KERR:  Yes.  We actually said on page 12 at line 18 that while there are some portions of rear lot that are underground, most rear lot service is overhead.

MR. BRETT:  Are you putting any new underground service in rear lot?

MR. KERR:  So we do not -- for the reasons listed in the evidence, we do not install any new assets in the rear lot, but for our -- where we need to address the rear lot assets, it's most prudent to install front lot underground.  So from that point of view, when we do the rear lot conversions, we bring the distribution out to the front lot, and the most prudent option is to do it underground.

MR. BRETT:  That's whether or not -- let me just be clear.  I may not have been as clear as I should have been there.

That is whether or not the fault -- or the problem you're addressing is in the rear lot overhead or the rear lot underground.  In either event, you move it to the front lot underground; is that what you are saying to me?  I know what you are saying with respect to the overleaf.  We've talked about that for two days.

With respect to underground plant rear lot, do you move that, as well, if there is a problem?

MR. KERR:  Yes, we eliminate all of the rear lot assets.

MR. BRETT:  All right.  And the plan here is -- I think you have told us there is no particular -- I think you said that most of this rear lot is in the west end of Toronto; is that right?

MR. KERR:  I think on page 13 of the evidence we actually have a map, and you can see primarily the Etobicoke area is where there is a lot of rear lot.

MR. BRETT:  I think you mentioned, though, yesterday - I just wanted to confirm this - that there is no particular tilt in the rear lot.  It could be industrial.  It could be commercial.  It could be residential.  It's not, for example, fair to say it's all residential or 80 percent residential, or is it?

MR. KERR:  Typically the rear lot distribution is in residential areas.  However, there may be other portions of that feeder which are going through commercial or industrial areas.

MR. BRETT:  Now, is there any part of that rear lot -- can any part of that rear lot plant be reached by laneways?

There are parts of Toronto in which there are a lot of back lanes.  I know, because I've looked for houses in north Toronto.  I don't know about the areas where -- but what percentage of this rear lot overhead plant would be accessible through laneways?

MR. KERR:  I would say very little.  If I could explain, when we're calling this -- much of the rear lot, as shown in the business cases, are areas where it's really between the rear of two houses.  So it's not like it's just the rear lot of a single home, but there's no laneway dividing.

MR. BRETT:  You talked about it being on easements, actually, in your evidence.  Thank you.  I just wasn't sure of that, because there are parts of the city where there are a lot of lanes.

Is it your intention, then, over the next several years to -- well, I guess you have stated this.  It is your intention over the next few years to replace all of that rear lot overhead plant; is that correct?

MR. KERR:  Again, in this ICM application we're only talking about what absolutely needs to be replaced in 2012 and 2013.  We're not referring to any 10-year plan.

We're referring to what, on a needs basis, has to be addressed in 2012 and 2013.

MR. BRETT:  Thank you.

Now, just briefly, I don't know whether this number -- this number I haven't seen, and you may have given it out and I missed it.

But can you give me a rough estimate of the cost per kilometre of replacing rear lot plant, overhead rear lot plant, and replacing it with underground front lot?  What's the cost, approximate cost per circuit kilometre of doing that?

[Witness panel confers]


MR. KERR:  We don't have a standard number of cost per kilometre, as not every area where we're doing the rear lot conversion is identical.  So, you know, to try and put the cost of the job into a linear would be assuming that every area is identical.

MR. BRETT:  Do you have a range, a reasonable range of costs that would account for the fact that you would have some areas that might have heavier tree cover or -- I don't know -- narrower spaces between homes, some of the factors that would differentiate one from another?

MR. KERR:  I think those factors, though –- we're not rebuilding the rear lot in the rear lot, so those would not be factors which would affect the cost of doing the front lot underground.

MR. BRETT:  There would be the removal cost, though.  I asked for removal cost.

And there would be different factors on -- you are saying, I guess, most of the cost would be in the front yard part of it?

MR. KERR:  My misunderstanding.  I thought you were asking for the installation cost.

MR. BRETT:  No.  I asked for the cost of moving it, taking it down and moving it, and putting it in the front yard.  Replacing the service, if you like.  Why don't...

MR. KERR:  On page 13 of schedule B6, we are listing the quantity of assets.

So I don't have in front of me what is the cost for removal of those.

MR. BRETT:  Is it possible to give that information?  I'm looking for kind of a high-level -- not a high-level, but a number or range that would encapsulate what the cost is of doing this.

MR. CASS:  Excuse me, Mr. Chair.  I'm wondering about where this is going and what the usefulness of this number might be for this proceeding.

MR. QUESNELLE:  Mr. Brett? 

MR. BRETT:  Well, I'm trying to get a -- there's an awful lot of factors that have been discussed here.  We get a lot of lists of factors and how they impact cost, and we have a lot of different tests being applied and there's been a lot of discussion about the numbers in those tests.

I'm looking for sort of a single number that would give an idea of how expensive an undertaking this is, because I want to be able to argue -- I may wish to be able to argue that this is something that it may be good to do, but it's something that can be done over 10 years, not over three years. 

MR. QUESNELLE:  From a rate impact perspective, Mr. Brett?

MR. BRETT:  Yes.

MR. QUESNELLE:  To the extent that the quantums exist for the applied-for projects, I think we have before us now as to what the rate impacts are proposed to be.

How would comparing it -- or how would the unit measure that you are referring to drive you to one argument one way or the other as to rate impact, irrespective of what the quantum per kilometre is?

MR. BRETT:  It looks like I have the numbers of actual jobs they are going to do.

MR. QUESNELLE:  To the extent that you are looking at it from a, perhaps, value-for-money proposition, if the quantum is there and if the existing projects do identify any kind of linear characteristic, is that -- I'll ask the witnesses -- is that something that is available?  Maybe not presented in that fashion, but are the pieces there to pull that together?

MR. KERR:  I'm sorry, I...

MR. QUESNELLE:  We have the –- sorry, go ahead.

MR. KERR:  I might be misunderstanding.  Would you mind just repeating that one more time?

MR. QUESNELLE:  From what I take it that Mr. Brett is asking, he's looking for a per unit, which is -– he's mentioned per kilometre of conversion from back yard overhead to front yard underground, the projects as you've been describing them, concrete encased and what have you, the typical conversion.

To the extent that you have any kind of -- you've identified the projects, you've identified where they are, is there in the evidence -- would you be able to or Mr. Brett be able to see in the evidence a linear characteristic of those projects, and then just divide that by the quantum?

That may be all Mr. Brett needs to put his argument together.

MR. KERR:  I think within the evidence we have the cost of performing those rear lot jobs and we have the feeder investment model analysis, so I would think that...

MR. BRETT:  All right.  Well, maybe I could ask this.  And I apologize if I don't have this top of mind, but I know you have job costs and I know you have job descriptions, and I guess what you are saying to me is in each of those detailed job descriptions, you do state the amount of -- you state the amount of cable that you are taking down, and then you state the amount of cable that you are putting in conduit.

Is that what you are saying?

MR. KERR:  I believe those asset removal costs are already embedded within the job cost of doing that rear lot conversion for the job.

MR. BRETT:  But my point is -- maybe I misstated the thing -- does the job cost or the job description talk about how many kilometres of line you are taking down and putting underground?

That's what I want to know, because I want to have some sense of the overall cost of this program.  This program doesn't end -- I know we're talking here about what you are doing in '12 and '13 and you've talked a bit about '14, but this thing doesn't stop, I take it, in '14; you are not finished the job in '14.

You still have some of this cable, overhead cable left that you want to get rid of in subsequent years?

MS. SPOEL:  Mr. Brett, can I suggest -- I think the witnesses told you how many kilometres in total they are doing if you added up all the jobs.

MR. BRETT:  Right.

MS. SPOEL:  I mean, I haven't done it.  If you went to the table and added up the cost of each job, and then divided it by the total number of kilometres, which I think he said was about 1,000, then you would have your answer.

I'm just trying to speed this along.  There are a number of jobs and they are each individually costed.

MR. BRETT:  I understand that.  Okay, I want to speed it along, too.  I guess what I haven't been told is:  Do these jobs that they have described in 2012 and 2013, do these actually take all of 1,000 kilometres of overhead cable and put it underground?  I don't think they have said that.  How much of that 1,000 kilometres do these jobs cover?  Let's put it that way.

MR. KERR:  I think the best way to answer that question was there was an interrogatory in which we attached essentially the listing of every single component being removed from the rear lot as part of this two-year program, which -- you know, we're not saying that it's a program that is going to continue.

We're saying for 2012 and 2013, this is what we're doing.   This is what needs to be done.  I believe there was an interrogatory with the FIM analysis that actually listed -- it was like 100 pages long.  It listed every single component being removed from the rear lot due to the execution of these jobs.

MR. BRETT:  In the process of doing that, did you also -- could you also just answer the simple question of what the total number of kilometres of rear lot cable you will displace by this?  That, to me, is a pretty straightforward question.  You give a hundred pages of stuff, it's...

MR. KERR:  I'm not sure if in the evidence we summarized at that level to say, Here is exactly is how many conductor kilometres we're removing.

MR. QUESNELLE:  You keep mentioning to the removal that has occurred.  Do you see that as a one-to-one extrapolation that will get -- that the removal kilo -- length of the amount of the overhead being removed is one-to-one commensurate with the length of the projects?  Is that a close enough approximation, and can you do the totalization of that for 2012 and 2013?

MR. KERR:  I wouldn't want to say that it's exactly a one-to-one match, but given that we have -- you know, we have identified all the components being removed, I think it would be -- we could just aggregate all that and show you the total number of kilometres of conductor being removed and cable being removed, number of poles and switches and all that.

MR. BRETT:  That would be great if you could do that.  That's all I'm looking for.  Thanks.  That's an undertaking for that?  Can we have a number for that?

MR. MILLAR:  J3.4.
UNDERTAKING NO. J3.4:  TO PROVIDE TOTAL NUMBER OF KILOMETRES OF CONDUCTOR AND CABLE BEING REMOVED, AND NUMBER OF POLES AND SWITCHES.

MR. BRETT:  I only have one other area here -- it's not an area.  It's just a couple more questions on this same thing.  It goes to the priorities in the schedule.

MR. QUESNELLE:  Mr. Brett, I will mention now we do have a hard stop at quarter to 5:00.

MR. BRETT:  Well, I'll be fine with that.  I'll be done in five, six, seven minutes.

MR. QUESNELLE:  Thank you.

MR. BRETT:  Thank you.

Maybe the most -- the easiest way to do this is simply to ask you to turn up -- go back to page 4 of this -- of your evidence, B6; tab 4, B6, page 4, the last paragraph starting at line 19.  Do you have that?

Now, I just want to read this sentence here that interests me.  It says, "The work to be undertaken in each year".  That's the work on converting back lot aboveground to front lot belowground, which we've been looking at over the last few minutes:
"The work to be undertaken in each year by this application has been selected based on two factors:  One, the priority associated with each specific rear lot conversion job..."

Let me stop there.  Is it fair to say -- well, let me just ask the question, or let me try and cut through this a bit and say:  Is it fair to say that what that means is that the priority is based on the age of the asset, and it's also based on the state of the asset?

Now, you've analyzed -- you know that -- is that correct?  What do you base -- when you talk about the priority associated with each specific rear lot conversion, before we get into all this stuff about planning and convenience and local impacts -- which I'm not trying to minimize at all, but I want to separate the two things.  What do you look at when you choose a priority?

MR. KERR:  So setting aside, you know, the logistics of sequencing, the first thing that directs us to a specific rear lot asset is, yes, the condition of the assets and also the historical reliability.

MR. BRETT:  This would be based on historical outages that have been caused, historic faults?

MR. KERR:  Along with the current condition or current state of the assets, yes.

MR. BRETT:  Then as for the rest of it, how -- the need to undertake work in a logical sequence that reflects good planning, distribution contingencies and local impacts.  How important is that?  Is that the real driver of this, or is the driver the state and condition of the asset?

Sometimes as I've listened to you over the last day-and-a-half, I get the sense the real driver is where your crews are at any given project.  What is the relative importance of those two factors?

MR. KERR:  The real driver in terms of why do we need to do that work is the condition of the assets, but we can't discount looking at -- you know, if you have multiple areas and all the assets are in very similar condition and they all need to be addressed, and if we can't do it all at one time, we have to figure out a logical manner in which to execute the work.

If I can add to that, it's not about convenience in terms of just where the crews are.  It's a matter of what is the most efficient way to do this, given that, like we said in the business case, all the assets in these areas are in similar, if not identical condition so --


MR. BRETT:  Can I ask a question, one other question, just moving to a related area?  You had a discussion yesterday with Mr. Faye on the box construction conversion activity.  You talked about some follow-on effects of that, including removal of the 4.16 kV cable and the eventual redundancy of a number of municipal stations.

Is it fair to expect that we would see some savings in maintenance costs over the next several years as these stations are taken out of service or redeployed for other purposes?  And in connection with that, maybe you could also state whether you will expect, I take it, to have excess land -- it's a question.  This is not a proposition.  It's a rhetorical question.

I expect you'll have excess land.  Are you going to sell that excess land, or how will you use that land on which those municipal stations now sit, which will be eventually made redundant by these series of -- to the extent that those municipal stations are used to supply 4.1 kV feeder, what are you doing with that?

What savings will we see, and what are you going to do with that land?

MR. KERR:  I'll direct that one to Mr. Simpson.

MR. SIMPSON:  So we do have a process to de-energize those MS lots, the station lots, when they are redundant, and that requires often rehabilitation of any waste elements or hazards on that facility.  

After that land is cleaned up, it is generally sold as surplus, and there's a number of stations each year that go through that.

MR. BRETT:  Would you expect to be doing that, or using those stations for some other purpose?

MR. SIMPSON:  We have a review process to see whether we need to retain that land for other, you know, work aspects, or whether it can be declared surplus, and my understanding is that generally yields maybe three to five properties a year that are sold.

MR. BRETT:  And some others, I understand, you'll use for downtown contingency purposes?

MR. SIMPSON:  They may have other uses and we want to retain them.

MR. BRETT:  Thank you.  Those are my questions.  Appreciate it.  Thank you.

MR. QUESNELLE:  Thank you very much, Mr. Brett.

Mr. Cass, anything else for the day?

MR. CASS:  No, sir.  Thank you.

MR. QUESNELLE:  Thank you.

As we mentioned yesterday and Mr. Davies put out in an e-mail, we'll start at 9:00 a.m. tomorrow morning.  And I believe Mr. Crocker is up for AMPCO, and we'll bring the panel back tomorrow morning at 9:00 o'clock.

Thank you very much.

--- Whereupon the hearing adjourned at 4:40 p.m.
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